Manufacturing Systems Spring 2004
                    NAME __SOLUTION__(17 Points)__________

Quiz 4 Date: February 12, 2004
☺☺☺☺☺

a. (3 points) What are three major assumptions/approximations behind the EOQ formula?
1. Demand is known, static, continuous, deterministic demand
2. Constant, fixed cost to place an order
3. Inventory carrying cost based on value of average on-hand inventory
4. Instantaneous batch delivery following a deterministic lead time
5. All replenishment orders are for the same quantity , and that quantity is not limited
6. No shortages (stockouts) are allowed, they can be avoided if orders are placed at the right time
b. (4) An item has an ordering cost of $200, an inventory holding cost of $20 per item per year, a demand of 1,000 per month. What is the EOQ? 
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A = fixed cost to place an order = 200
D = demand rate in units per time = 1000/mo or 12000/yr
h = inventory holding cost per unit-time = 20/unit/yr
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2. (3) It takes 10 minutes to make the first Whataburger. How long will it take to make the 1,000th, assuming a 90% learning rate?
Y(n) = Kn-a
2-a = 0.9 ( a = 0.152
Y(n) = 10(1000)-0.152 = 3.5 minutes
a. (4) List 4 main steps in preparing a final board using SMT.

Solder Paste Printing
HSP Component Placement



GSM Component Placement


Convection Re-flow



Automated Optical Inspection



Flying Scorpion Fixtureless Probe Test



Waterwash

b. (3) What are three major defects in PCB assemblies? 

Tombstone
Solder balls

Wrong parts / missing parts

Wrong orientation
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